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Appendix A

Pre-Test

Name  __________________________________ Date ________________

Class period _______________________Teacher _____________________

True/False: (Circle one response.)

1. In the natural world, an animal can use a variety of strategies to survive and reproduce, and the strategies are always successful. 


a. True 


b. False 

Short Answer: 

2. Have you ever heard of the idea “survival of the fittest?” 



 FORMCHECKBOX 
 Yes 
 FORMCHECKBOX 
 No 

If “Yes,” please answer the following two questions. If “No,” please skip to #3.


a. What do you think “survival of the fittest” means? (2-3 sentences)

b. Why might the term “survival of the fit enough” be more accurate than “survival of the fittest?” (2-3 sentences)
Multiple Choice: (Circle one response for each question.)

3. 
Complete this sentence: In natural selection, “fitness” is measured by the success of certain organisms over others, and their success depends ultimately on ___________.


a. a large body


b. the ability to reproduce successfully 


c. long legs for speed


d. being the most attractive

4. Which of the following is a good “strategy” for a cricket to attract a mate?


a. Chirping


b. Having a healthy appearance


c. Having a glossy exoskeleton


d. All of the above

5. Which of the following is the most important to allow evolution to occur?


a. To escape predators


b. To pass on your healthy genes to your offspring (children)


c. To live the longest


d. To find the most food

6.
Below are descriptions of four imaginary female lizards found on an island. Which lizard might a scientist consider to be the “fittest”?

	
	Lizard A
	Lizard B
	Lizard C
	Lizard D

	Body length
	12 cm
	20 cm
	10 cm
	15 cm

	Total number of healthy offspring
	28
	19
	22
	26

	Age at death
	5 years
	4 years
	4 years
	6 years

	Comments
	Lizard A has mated with many lizards.
	Lizard B is very healthy, strong, and clever.
	Lizard C is dark-colored and very quick.
	Lizard D has the largest place to live of all the lizards.


a.
Lizard A

b. 
Lizard B

c.
Lizard C

d.
Lizard D

Appendix B

Post-Test

Name  __________________________________ 

True/False: (Circle one response.)

1. In the natural world, an animal can use a variety of strategies to survive and reproduce, and the strategies are always successful. 


a. True 


b. False 

Short Answer: (2-3 sentences for each question)

2. 
Now that you’ve read the story, what do you think the term “survival of the fittest” means? 

3. 
Why might the term “survival of the fit enough” be more accurate than “survival of the fittest?”

Multiple Choice: (Circle one response for each question.)

4. Complete this sentence: In natural selection, “fitness” is measured by the success of certain organisms over others, and their success depends ultimately on ___________.


a. a large body


b. long legs for speed


c. the ability to reproduce successfully


d. being the most attractive 

5. Which of the following is a good “strategy” for a cricket to attract a mate?


a. Chirping


b. Having a healthy appearance


c. Having a glossy exoskeleton


d. All of the above

6. Which of the following is the most important to allow evolution to occur?


a. To escape predators



b. To live the longest


c. To pass on your healthy genes to your offspring (children)


d. To find the most food

7.
Below are descriptions of four imaginary female lizards found on an island. Which lizard might a scientist consider to be the “fittest”?

	
	Lizard A
	Lizard B
	Lizard C
	Lizard D

	Body length
	20 cm
	12 cm 
	10 cm
	15 cm

	Total number of healthy offspring
	19
	28
	22
	26

	Age at death
	4 years
	5 years 
	4 years
	6 years

	Comments
	Lizard A is very healthy, strong, and clever.
	Lizard B has mated with many lizards. 
	Lizard C is dark-colored and very quick.
	Lizard D has the largest place to live of all the lizards.



a. Lizard A


b. Lizard B


c. Lizard C


d. Lizard D
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